
TRIANGLES WORDED SUBTRACTION PROBLEMS 

ANSWERS 

 

1.  Abdul-Muhaymin had 12p. He bought an apple. It cost 5p. 

How much money did he have left? 

ANSWER: 7p (Remember not 7 giraffes! 7p) 

12p – 5p = 7p 

(Count back 5 from 12: 11, 10, 9, 8, 7) 

 

2. Sophie saw 13 Unicorns in her garden but 4 of them went 

away. How many were still in the garden? 

ANSWER: 13 – 4 = 9 

 

3. Harrison had 15 Buzz Lightyear toys. He gave 4 to his 

brother. How many Buzz Lightyear toys does Harrison have 

now? 

ANSWER: 15 – 4 = 11 

 

4. Tiana had 20 yummy strawberries in a pot. She ate 3 then 

she gave 4 to her friend. How many strawberries are left in 

the pot? 

ANSWER: 13 

20 – 3 = 17 

17 – 4 = 13 



 

5. Jamie had 16 Marvel hero cards. He gave 4 to Tyler and 

another 4 to Ruari. How many cards does Jamie have left? 

ANSWER: 8 

16 – 4 = 12 

12 – 4 = 8 

 

6. Ruby got 17 Easter eggs from the Easter egg hunt. She gave 

8 of them to Zuzanna. How many eggs does Ruby have 

now? 

ANSWER: 9 

17 – 8 = 9 


